e ﬁﬁxy ,D: o % f_y_
- o Oy 500
% X)/ P =2x + 2

2 _

P-“‘: 3)(‘ +Qy 4 - )(')/'
2023 1y 5 A6 = x(60-2)

Py = 12057

i\r{%i [(:9\407

@ 1

2 PN S f '
JEXT i chest 2 (ﬁ") a’};fr j&;}g)"?‘*(yﬁe’%y

closed e val ['!' [] |
“V(x-0)7 + (y-1)
—

Al =\ x? + (x*)?
dé(); \,fxﬂ? + X"’QXQ“’L/

2

R

yer

y
d) = [T+

point closest 12 (6,0

|t N2t (o2
closed terval Z.,g‘; g‘j 2 !/(X N+ (v ag).m

dy=\ x> + (cosx-0)°

db)=/ X& + cosx

yf»‘ 10 35

G?C’je,zj. Merval [/J, 3_] \/4 jwlf\ |
V6 =x{lo-2)(62x)




\Wwate ke

st

d(x) = V‘}X@?*‘% * \//"(5~,<¢);}7 +16

= 3R y? N
R e

j 5 mf///’m/)/f/e over Micgh
J2 /w"f//‘tq/m‘/t Ov-én c//)r bond

closed Meryal [@ %]

Cost=Cl)= 5fxa+ +R (ﬁf%x’)‘“’?/&b

V(5007 \
Tnterching

FZD Cost ()= b xFHE  + R/ TR0

Velune = 12 H. 02 Surfice Arec = Ko+ Qurh
) #.oz. = |90 461 n’
. , ‘st - —{~n : L6356
|28l0z2. = 265677 Cost —-C(k);o((o?'ff‘;) e "T'“\/"z“f’%r‘a_')
\/; Tr2h o and bothwm

Furle o5 Fhik

21, 6563% = 177k

216568 = h
..ﬂ';q;



&,7@7/&

Frimetr = SHTH o= 2 + B
P@/)W;éf‘:g?ég:f//’ ! ‘Trp& 4( > Q( SHIT - 417 ~+ = [Llag
/“-"ﬂﬂ/c o ; JN} R _,,_..-—-———- Q

THIT = 2x +Ur+ T
o op it = N - = (-t + I

THT - 4r-Tr e
b

/4»(5« o /)/)Mkﬁj /‘8719;« = 72 M=
7=y frex of al = (x+2>(r4)
Hx) = () (2 4 %)



